	Fiche ……
	Calcul littéral 
	Ide5

	
	Egalités remarquables
	


	(Entraînement

	Produit
	Somme

	( 4x – 3 ) ( 2x + 6 )
	

	( 2x + 3 )²
	

	
	25x² + 30x + 9

	( 7x + 2 )²
	

	
	x² - 36

	( 10x – 1 )²
	

	
	x² - 2x + 1

	( 4x – 1 ) ( 4x + 3 )
	

	
	36x² + 12x + 1

	( 4x – 1 ) ( 4x + 1 )
	

	
	4x² - 81

	( 10x + 3 )( 10x + 3 )
	

	
	25x² + 60x + 36

	( 5x – 6 )²
	

	
	4 – 64x²

	2x ( 7x – 5 )
	

	
	100 – 40x + 4x²

	( 2x – 10)²
	

	
	4x² - 40x + 100

	( 2x + 3 ) ( 2x – 3 )
	

	
	4 – 9x²

	( 2x – 3 ) ( 2x + 3 )
	

	
	

	( 10x + 5 )²
	

	
	4x² + 6x + 2
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